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Section A (Questions1-4)

Popular Music and Jazz: Kate Bush



Q1 Bush: Cloudbusting (excerpt 1)
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Listen to Bush track 1 and refer to Excerpt 1 (above).




(a) Tick three of the following that are features of bars 1 to 5 of this excerpt.

features tick 3

three different chords

pizzicato

mostly conjunct melody

four different chords

mostly melismatic

extended chords

mostly disjunct melody

(b) Which instrument is used for the first time in bar 8?

(c) What are the two time signatures which have been omitted from the score in
bars 11 and 127

time signature forbar 11 .............ocoi

time signature forbar 12 ...

(d) In which bar are drums used for the first time in this excerpt?




(e) Compare the bridge (bars 18 to 21) with the chorus (bars 21 to 33) and
describe how continuity is maintained between these two sections. Make
two points in your answer.

(f) Describe the vocal melody part in bars 21 to 26.

(g) Which of the following shows the correct rhythm for the “hand toms in bars
18 to 337 Circle your answer.

Total for Question Bush 1 =12 marks




Q2 Bush: Under Ice (excerpt 2)
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Note: the chord symbol for bar 7 (and 17) should be Dm7 (like bars 27 and 43) and similarly the

chord symbol for bar 9 has been corrected to D5/A (like bars 19, 29 and 45)
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(&) how does the musical setting enhance the mood and meaning of the lyrics

Listen to Bush track 2 and refer to Excerpt 2 (above).




(&) What is a "Fairlight CMI'?

(b) Describe the use of dynamics in bar 2.

(c) Compare the setting of the lyrics in bars 9 +11 with bars 12 + 13. Describe
one way in which they are similar and one way in which they are different.
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(d) In which bar are (overdubbed) backing vocals used for the first time in this
excerpt?

(e) How does the musical setting enhance the mood and meaning of the lyrics
in bars 52 — 577




(f) In the final bars, how is the synthesiser effect produced?

(g) Describe the structure of this song

Total for Question Bush 2 = 12 marks




Q3 Bush: Cloudbusting (excerpt 3)
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(d) chord sequence bars 18 - 29
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Listen to Bush track 3 and refer to Excerpt 3 (above).




(&) Tick two of the following that are features of the violin | melody in bars 1 to 8
of this excerpt.

features tick 2

harmonic minor scale

whole tone scale

melodic minor scale

mostly conjunct

mostly triadic

mostly disjunct

(b) In bars 6 — 15 of the vocal melody, locate the following features:
there is a syncopated rhythm in bar .................

thereis amelismainbar ..............

(c) Which of the following shows the correct rhythm used in the string parts in
bar 17? Circle your answer.

B

H ZAﬂf SR o )'{ bt -NJ\? ucni i )); ?J_-ﬁ S, i

(d) Underline one of the following which shows the correct chord sequence for
bars 18 - 29.

C#m7 _ B(addg) _ F#7(SUS4) _ B(addg) F#m7 _ D(add9) _ C#7(SUS4) _ B(addQ)

0#7 _ Bm(addg) _ F#m7(SUS4) _ Em(addQ) C#m? _ A(addg) _ B(SUS4) _ G#m7(add9)

(e) How many different pitches are used in the synthesiser melody in bars 32
to 40 (beat 1)?




(f) The synthesiser melody and chords are shown in bars 41 — 44. Describe how
the notes in the melody relate to the given harmony in these bars.

(g) Describe the melodic structure of the six phrases which make up the vocal
melody in bars 49 to 65.

(h) Tick the phrase which best describes the use of harmony in this excerpt:

use of harmony tick 1

mostly functional harmonies

mostly chromatic harmonies

whole tone harmonies throughout

dischords throughout

Total for Question Bush 3 =12 marks




